MCJQ %5

i

EE (CARR) REEL

mindman

Rk

O RNFRERBCRWA B A G A TaaT A i -

® LR YIGE S € o AN DIBEAL A 3R L2 ST AR
[ E IR - SEE AR E 2 AR ER -

o A AT LHRIVER S B - ORI TSR T E W
B - O AR A RO A SE R © S0 ERS e R st A iR A TR
BRI EZOR -

® YT HEE BURE » FOAM R TR SO (R A L S O e o LR
B o ML R

o 5[ SEstat - RCE, RCEVERAR A E RAHE EAAZE > tpflize
] -

© ] [ E R EURAREE ST 0 ¢ 12,6 167 I E 0 6 20~¢
100w] PYTH [ 5E -

BN PRI TR Bk -
$12,16 |5,10,15,20,25,30 | 35, 40, 45, 50, 75,100 TEB 2t P
$20  |5.10,1520,25,  |75,100,125,150,175,200 SRHELAIHE (mm) 12,16 | 20,25 | 32,40 | 50,63 |80, 100
$25 |30,35404550 |75,100,125,150,175,200,250,300| | KAL) M5X0.8 Re1/8 | Ro1/a | Re3/s
¢ 32~80| >10192925:%0 1455 150 175,200,250,300 LT ZER
35,40,45,50,75,100 i (MPa)  [0.07~1 | 0.05~1
KL EHEATAE (mm) M EE ] 1.5 MPa
¢ 100 5,10,15,20,25,30,35,40,45,50,75,100 VA 8 —5T~+60C (FHfiAs)
o I (R (TR SMBL R < R+ ATH R VS - PR R 50~500 mm/sec
o I TR AR AR EL SRR - L RCE, RCET RCB, RCE, RCEA

SRkl /

AR
MCIQ—-12—- 20 — 25 M- F-G

| 1

MRFIRBIR G I MEEE 22N-03 ~ 04 H -

SR SR B % 3522 Y-07 E (RCB), Y-09 & (RCE / RCE1) «

LA
FAC — MCJQ — 20

Ei5R FELRE M : [T BigR FELRIE
i - ey REAX
p o BLE QMRS
1: g F: e mign
i 172 s et e YR LB
NPT : NPT4 CcB
R FAC
YEENA R 1R A -

_ _ = FBC

% RO I
RF

11| [Te=| ams

12| [T wmwwr

mindman




MCJ O WEBHEE R T/ BT

ER (CRH) mEEEL mindman
ZAEITIE = 1T AR M BB
0@0 @? 99 9@09 (%(5% 12(11(9)
ﬁ Wi ! \LLJ
R -

i 3 == o
TR — 2 E
Pt o | FEEREE g
HHE 4R 12|16 |20 | 25| 32| 40| 50 | 63 | 80 |100 fiit B (N2 )
1| & wad i | 1
Al SEES S o | 1 °
R wad Byt 1 °
i Wit SIS s 1
4 | THZER
FHf [SUS ] !
5 | 1HZE fReE 612~32 pytpgen | 1 [ )
6 | IEIEFEEIR NBR 1 ) ()
7 | Flminm g5 SUs | S 1 °
8 | &R NBR 1 ([ J [ J
o | imdigk Rgh SUS | THEH SCM 1 °
10 | mAEHE NBR 1 ° °
11| THEZER NBR 1 ([ J (]
12 | R NBR 2 ° °
13 | Rt s 1 °
14 | fifEsEt — | e 1 °
15 | maE — | wxee 1 °
4 SREF _ B - - .
AR TR ST R R STHEFLSE
RG] WAEE | maR | WERT | AR e {ERHAD
A EFERHE wop (ZHEE
(BT )R _ -
B 1 1 1 1 g BRI s G
12 KSYR-6 OPA-12 S-11 d4 xw1 ¢ 12 | CP-MCJQ-12-12(M) ¢ 12 | PS-MCJQ-12-12
16 KSYR-8 OPA-16 S-14 d5xw1 ¢ 16 | CP-MCJQ-12-16(M) ¢ 16 | PS-MCJQ-12-16
20 KSYR-10A OPA-20 S-18 déx w1 ¢ 20 | CP-MCJQ-12-20(M) ¢ 20 | PS-MCJQ-12-20
25 KSYR-12 OPA-25 S-22.4 dgxw1 ¢ 25 | CP-MCJQ-12-25(M) ¢ 25 | PS-MCJQ-12-25
32 KSYR-16 OPA-32 S-28 S-9 ¢ 32 | CP-MCJQ-12-32(M) ¢ 32 | PS-MCJQ-12-32
40 KSYR-16 OPA-40 S-36 S-10 ¢$40 | CP-MCJQ-12-40(M) ¢$40 | PS-MCJQ-12-40
50 KSYR-20 OPA-50 S-46 S-16 ¢ 50 | CP-MCJQ-12-50(M) ¢ 50 | PS-MCJQ-12-50
63 KSYR-20 OPA-63 S-60 S-16 ¢ 63 | CP-MCJQ-12-63(M) ¢$ 63 | PS-MCJQ-12-63
80 ORA-25 OPA-80 G-75 d20 X w1 ¢80 | CP-MCJQ-12-80(M) ¢80 | PS-MCJQ-12-80
100 ORA-30 OPA-100 G-95 S-26 ¢ 100| CP-MCJQ-12-100(M)| | ¢ 100| PS-MCJQ-12-100

mindman



MOCJIQ Padbhis R ¥ mE /B

i

BE CAR) wEEEL

PrP

mindman

RITAEFf{ R A

%905

REEERIREY
~INE

A

Ty

1 m|
| A
— S5 JRE .
RITE—FEETMAE ¢
1R = =Xty -y S 2
HH 4R i 12116 |20 | 25|32 |40 | 50 ( 63 | 80 fifiat: ik TE(%ES{HL e 11%@%@)‘
1| A e TEGERNE | 1
S woe savan e | 1 °
R EEe ] 1 °
\ bt sus g 1
4 | JEEM
G [SUS fisesh 1
5 | 5% HEE ¢ 12~32 ymRem | 4 ()
6 | ImIEIEEE NBR 1 ° °
7 | L Rga SUS | s 2 °
8 fLEER NBR 2 [ ] (
o | wmaigm Rg5 SUS | THE#H SCM 1 °
10| EoEEmEE NBR 1 ° °
=S NBR 1 ° °
12| R NBR 2 ° °
13| WA v 1 °
14| iR i 1 °
15| EIEIRHE — | mree 1 °
e S _ L Bifa . = . .
Rt — e ﬁ%i@l‘%l S | STHEFCE -
] WA | R | WERT | AR e (T
\ SRR moww (ERE
GRS 1 —
i 1 1 2 1 P | R PIg )
12 KSYR-6 OPA-12 S-11 d4 xw1 ¢ 12 | CPL-MCJQ-12-12(M) ¢ 12 | PSL-MCJQ-12-12
16 KSYR-8 OPA-16 S-14 d5XxXw1 ¢ 16 | CPL-MCJQ-12-16(M) ¢ 16 | PSL-MCJQ-12-16
20 KSYR-10A OPA-20 S-18 dexw1 ¢ 20 | CPL-MCJQ-12-20(M) ¢ 20 | PSL-MCJQ-12-20
25 KSYR-12 OPA-25 S-22 d8xw1 ¢ 25 | CPL-MCJQ-12-25(M) ¢ 25 | PSL-MCJQ-12-25
32 KSYR-16 OPA-32 d28 x w2 S-9 ¢ 32 | CPL-MCJQ-12-32(M) ¢ 32 | PSL-MCJQ-12-32
40 ORA-16 OPA-40 S-36 S-10 ¢ 40 | CPL-MCJQ-12-40(M) ¢ 40 | PSL-MCJQ-12-40
50 ORA-20 OPA-50 S-46 S-16 ¢ 50 | CPL-MCJQ-12-50(M) ¢ 50 | PSL-MCJQ-12-50
63 ORA-20 OPA-63 S-60 S-16 ¢ 63 | CPL-MCJQ-12-63(M) ¢ 63 | PSL-MCJQ-12-63
80 ORA-25 OPA-80 AS-41| G-75 d20 X w1 ¢80 | CPL-MCJQ-12-80(M) ¢80 | PSL-MCJQ-12-80

mindman




MCJQ Znitr

M

BE CAR) wEEEL

mindman

No. ZEEERC T HX No. LS HX
1| LBLERM 0-13,15 PC &1 (PISCO) L-02
2 | FAC/FBC Z#:miff: 0-13,14,16,17 JSC #3328 (PISCO) L-22
3 | CB+PIN ZHLfT: 0-14,18,19 10 | RCB s Y07
4 | RF BHEREMGEN 0-19 11| RCE/RCE1 {2 Y-09
5 MFC 7820 Y-01
6 | MFCS 785 A Y-03
7 PHS faliR 20 Y-04
mindman




MCJQ SBIR 12~ 032

BE CAR) wEEEL

2X4-¢ OB % RB

b 16

2X4-¢ OB % RB

H %5 C

¢ 20, ¢25

HAHC

2X4-0OA 7% RA

S

oY
X

2 X4-OA F RA

1772 5~100

LA
b= =

mindman
T 284100
= &

2X 4-OA i RA

ekt 100

- =

-
& = 3
ﬁ\ N/ C
OIN—T—AR
oA N
K &
M
E

r )
g
z
fa -
>~ =<3l B LS
e =0 3
1 fl I T |
u 1 1 |
" 27 Ll B2
= X —
Bf A+HTHE
72 5~100
<Q.‘ 2-P ’L
i 7
]
T i 23
i z 2 «5
- N
1| < 32
L Il [ |
L B+17f2
A+HTHE

| [
2X4-OAFZERA  \

¢ 32 RHET THE 5~100

¢ 32 £A77% (i 100)

it A%
g

H1

“\Eg%"

MCIQ-11(#2im I 5F)

H1 L1|L2| X

M5x0.8 |14 |24 |[10.5

M6x1.0 |15.5]| 25.5| 12

— 12
J(; 16

L _%_f 20 M8x1.25 |18.5| 28.5| 14
25 M10x1.25 |22.5 | 32.5| 17.5
C1 32 M14x1.5 |28.5| 38.5| 23.5
X
L2
2, L2 Ri7HE
¢ 12~25
e FEHELTIE T2
i pgi Y BFLCDEHIKM OBl P |Q|RARB(X|[Y|Z
I L|A[B]JF
12 3.5(25.5(22 |5 32(7.5(13.5| 6| 6|25|M3x05(32| 5(15.5/3.5 6.5(M5x08(7.5| 7| 4 [4.2[6.3]0.5
16 35(255(22 |5 32(7.5|13.5| 8| 8|29|M4x0.7|38| 6(20 |3.5 6.5(M5%0.8|7.5 4 |4.2|6.3[0.5
20 45|34 |29.5|5.5 41|9 [14.5| 7[10|36|M5%0.8|47| 8(25.5|5.4 9 |M5%x08[9 |10 7 |6.2|8.8]1
25 5 [37.5/325|5.5 44|11 |15 (12|12 [40|M6x1.0|52|10|28 |5.4 9 [M5x08(11 [10| 7 [6.2[8.8]1
¢ 32
fRae TEHEITHE FITH2
hysei] P [CI[D|[E| H |I|J M| N | OA |OB|RA|RB(X|Y|Z
P FlL|Q FlL|Q
E2 B
33(7.5|7|10.5 Rc1/8
32 12.5| 17 [12.5|7"°113] 16|45 [M8x1.2560| 4.5 34(5.5|M6x10| 9 | 10| 7 |6.28.8 1
33|75/ 7|105 ()

1 RINHATRERS 5Smm kK - P=M5X0.8 - Q=11.5 F=5.5

M

mindman




MCJQ HHBIRF ¢40~6 100

BE CAR) wEEEL

¢ 50~ ¢ 100

2X4-¢ OB % RB

1712 5~100

mindman

S

fTHE#R:E 100

H 7% C
2X4-OA % RA Q 2P F
[ LT T T T
'I:"_r 'I:"_r 'I_T:I' 'I_T:I'
&
X [}
slwl 3 o | x %T z S J_I\—
Sl e L & © ]i
N [
‘M 7 2X4-OA - ZERA
.z Ny
x4 L :ﬂfi 5|
A+HT1E L
6 40~¢ 100 ¢ 40~ ¢ 80
Pt au] et i m B
40 (4772 5~100) (1712 it 100) .
0 . _ L MCIQ-TT(S8IV)
T H1 H1 E\ et H1 [L1|L2| x
\ M’ ’[ﬁ 40 [20.5] M14x15 | 285385 235
g} w3 [ _ A 50 [26 | M18x15 |335]435] 285
1 —H—IV—IL 63 [26 | M18x15[33.5435] 285
o1 g o 80 [32.5] M22x 15 [435|535] 355
= " — 100 [32.5] M26x1.5 [ 43.5] — [ 355
L1 L2
ot FRAETTRE RITHE
o TR | FRER -
ot \| (T — = 7| F | L |Q|TREE A|B|F | L|Q
5-50 | 365 | 205
40 465(305| 8 | 7 [11 [125~300 (72 |55 [14 | 17 |14
75,100| 465 | 395
5-50 | 385|305
50 485|405/ 10.5| 8 |10.5(125~300 [ 73.5|565 |14 | 18 |14
75,100| 485 | 405
5-50 |44 |36
63 54 (46 |10.5| 8 |15 [125~300 |75 |57 |165| 18 |165
75,100 54 | 46
5-50 | 535 | 435
80 635535\ 12.5| 10 |16 |125~300 (86 |66 [19 | 20 |19
75,100 635 | 535
5-50 |65 |53
100 75 (63 |13 | 12 |23 —_
75,100| 75 | 63
e Cc|p|E|6*| H [1|J|W|K[M|N| OA |0B] P |RA|RB|T|X|Y|Z
40 | 13 [ 16 | 52|28 73, |M8x1.25] 70| 5[ 57 |14 |40 55[mMex1.0 |9 [Reiss 107 [14] 62] 88[ 1
50 | 15 | 20 | 64|35 55, | M10x15] 86| 7| 71 | 17 | 50 | 66 M8x1.25 [11 |Ret4citt)| 14 | 8 | 19| 8.2[10.8] 1
63 | 15 | 20 | 7735 30| M10x15[103] 7] 84 |17 60| 9 |[M10x15 [14 |Ret/4(it2)[ 18 [10.5] 19 [10.2]13.8] 1
80 | 21 | 25 | 9843 30| M16x20[132] 6[104 |22 77 [11 |m12x1.75[17.5 Re3(i13) | 22 [135] 26 [12.2]17.3] 2
100 | 27 [30 [117] — [wm20x25]156] 65[1235] 27 [ 04 [ 11 |M12x1.75[17.5 Re3i(:3) | 22 [135] 26 [12.2[17.3] 2

1 NG TRE B 5mmi; » P=Rc1/8 ~ Q=12 ~ F=8
32 ¢ R TR B S5mmiE - P=Rc1/8
A3 ¢ ARG TR Ry SmmIkE > P=Rc1/4

mindman




MCJQ BRS¢ 12~¢100 M

EE (CER) REEL mindman
HMBIR T ‘ 2 |
RCB £ —|o ‘ @+ RCE __ : RCET1 |
RNB ?% N el — RNE | ==

—

§ ‘ 24 ‘ 2000 ‘ ‘ 22 ‘ 2000 |
RCB : s g
T i ‘ 3
R
\

CEDTE D E
612~ 40 ¢ 50~ ¢ 100

O

= I ——rr—rr—"= = §

a ] i -
RCET — [] %\ A|B|c|D|E
T 50 | 72[40 | 8 [16]22
| 63 | 85(465| 8 [16]22
. _ 80 | 106 [57 | 8 [16]22
B g&n.:ﬂg%»% 100 | 125 |66.5| 8 | 16 | 22

RCB/RCE / RCE1 ( C: %)
RNB /RNE ( N:fEHzEE)

(R [E e FmEERAH * SR T
v

V H[%éE: RCB i

$ 32,640

M mindman




MCJQ BEER/ ZHEREPE ¢ 12~ 625

BE CAR) wEEEL

mindman

HMF Y
L B+{7#2 L1
{ T i } { Vi
] T ]
A [ /
{ ) =
T ') T
- ‘ ‘
LX 4-6LD X Y Y| X LG
LZ LS+{7H2
A+HTEE
Rk IEAEITRE Fi7E
1712 ARG ffpgi 2y 1712 AlB|lLs L(L1|LD|LG|LH|LT|LX|LY|LZ| X [ Y
mE\ @@ [ A B|LS| A B]|LS| #i®
12 5~30 |[35.3[17 |5 |40.3|22 [10 | 35~100 |50.3| 32 | 20 |13.5|24 |45|28 |17 |2 |34 [295| 44| 8 |45
16 5~30 |35.3[17 |5 |40.3/22 [10 | 35~100 |50.3| 32 | 20 |13.5|25.5|4.5(28 |19 |2 |38 (335/ 48| 8 |5
20 5~50 [41.2{19.5| 7.5 |51.2|29.5(17.5| 75~200 |62.7| 41 | 29 |14.5|28.5(6.6 |4 |24 |[3.2| 48 [42 | 62| 9.2 538
25 5~50 (44.7|22.5|7.5|54.7(32.5|17.5| 75~300 |66.2| 44 | 29 (15 |32.5|6.6 |4 26 | 3.2 52 (46 | 66 |10.7( 5.8
AN
M == i
2-¢FD
X FT L1
Z L B+{71%
A+FTH
fog HEAEITRE FATIE
Tz BN el et 1712 A B FD|FT|FV|FX|FZ| L | L1
mE\ mE | A B | A B | dEE
12 5~30 |305|17 |355|22 | 35~100 | 455 | 32 |4.5|55| 25| 45 | 55 |13.5|24
16 5~30 |305|17 |355|22 | 35~100 | 455 | 32 |4.5|55| 30 | 45 | 55 |13.5(25.5
20 5~50 |34 | 195 |44 | 295 | 75~200 | 555 | 41 |66|8 | 39| 48 | 60 |14.5[28.5
25 5~50 | 37.5| 225 | 475 | 325 | 75~300 | 59 44 (668 |42| 52|64 (15 [325

mindman




MCJQ BEER/ ZHEREPE ¢ 12~ 625

=5 NN = EF .
A (CRR) mEEL mindman
il
w7 — Sl z
1 | @ ©
L1 L B+/T1% FT Z6FD
A+ Fz
ot FEHET TR EATHE
1712 G gl 1712 FD|FT|FV |FX|FZ
ot S |A|B|L|L
i A(B|L|L1|[A|B|L/|L1 i
12 | 5~30 |26 [17 |35[14 [31 [22 [35[14 | 35~100 |51 | 32 [135[24 |45|55] 25| 45] 55
16 | 5~30 |26 [17 |3.5(155(31 [22 |3.5[15.5| 35~100 |51 | 32 [13.5[25.5|4.5 (55| 30 | 45 | 55
20 | 5-50 (32 [19.5|4.5(18.5[42 |29.5| 4.5 (18.5| 75~200 |63.5| 41 [14.5(28.5(6.6 (8 | 39 | 48 | 60
25 | 5~50 |[355(|225|5 |[22.5(455(|32.5(5 |[22.5| 75~300 |67 | 44 [15 [32.5(66(8 | 42|52 | 64
G
CT CD L. H10
i d9
ﬁ 7 r ‘
T . 1
Y % dt
L1 cu CX:03
L B+{7f2 cw CczZo4
CL+{TF2 RR
A+HTTE
foaE FEHET TR F171#E
172 B ptzidl gl 1712 CD|(CT|CU|ICW|CX|CZ|RR
— A|B|CL|L|L1
ke ] A|(B|CLIL|[L1|A|(B|CL|L|L1 i
12 | 5~30 [405[17 [34.5]3.5 14 [455(22 [39.5)35[14 | 35~100 |65.5] 32 [59.5[13.5(24 | 5| 4 | 7[14]5 [10] 6
16 | 5~30 [41.5[17 |35.5]3.5[15.5(46.5(22 [40.5| 3.5 [15.5| 35~100 |66.5| 32 [60.5[13.5/25.5 4 [10] 15| 65/ 12| 6
20 | 5~50 |51 (19542 |4.5(185(|61 [29.5(52 |4.5(18.5| 75~200 |82.5| 41 |73.5(14.5/285| 8| 5 |12 |18| 8 | 16| 9
25 | 5-50 |[57.5(22.5(47.5|5 [22.5|67.532.5(57.5|5 [22.5| 75~300 (89 | 44 |79 [15 [32.5( 10 | 5 | 14 | 20 |10 | 20 | 10
M ‘mindman




MCJQ EHBh/ 250 ¢ 32~ 6100

mindman

3'-'— 1 :A P—l =1
ER (AR ) |mEREL
AR AN
6 Y 5
EEHETTRE L B+{712 ‘ L1 |
T 7 7 ‘ | 7
@) B EE—
i ] y N
- - |- _ _ _
‘ G} (AN _G} ‘ E : J
JECjE=ossmmesmmmoeee JECIE T T
} LX | 4-6LD x_|y|_ LT Y| X LG
LZ LS+{TH2
A+{7H2
42
FATHE Rl VR
L ‘ L1 ‘
T 7 | 7
o FEAES THE EIT1E
it R i T i | a1 g [Ls| b |1 |LP|LG|LH|LT |LX LY (LZ| X | ¥
wE\ gE [ A B|LS| A|BJ|LS| #E
5~50 47.2| 23 7
32 57.2| 33 | 17 | 125~300 |69.7|45.5|29.5| 17 |385|6.6 | 4 |30 (32| 57 | 57 | 71 [11.2| 5.8
75,100 (57.2| 33 | 17
5-50 |53.7|29.5[13.5
40 63.7|39.5(23.5| 125~300 (79.2(55 (39 17 |385( 66| 4 | 33 |3.2| 64| 64 78(11.2( 7
75,100 |63.7|39.5/23.5
5~50 56.7|130.5| 7.5
50 66.7|40.5|/17.5| 125~300 (81.7(55.5(32.5| 18 |43.5| 9 5 (39 (32| 79| 78 95|14.7| 8
75,100 |66.7|40.5(17.5
5-50 |62.2[36 |10
63 72.2[46 |20 |125~300 [83.2[57 |31 | 18 [43.5| 11 | 5 |46 [ 32| 95(91.5 113]16.2| 9
75,100 [72.2(46 |20
5~50 75 |43.5(13.5
80 85 |53.5(23.5| 125~300 (97.5(66 |36 20 (53.5( 13 7 |59 |45|118(114(140(19.5 11
75,100 |85 |53.5(23.5
100 |0 188 159 19 |00 63 |20 | 125~300 22 |535( 13| 7 | 71 |6 |[137]|136|162(23 [12.5
75,100 |98 |63 |29 : :

mindman



MCJQ EHBh/ 250 ¢ 32~ 6100

BE CAR) wEEEL

mindman

Ao Rl
_ f-,.**?,ﬂﬁ — T 7 — T
SOz e Ol
Vi
i =l @I
L
4-¢FD FT L1
FX -
L B+{7f2
FZ A+(FHZ
o FEHESTHE E1712
72 | R (] e | | g |FD|FT[FV|FX|FZ| L |L1|M
W\ A|lB|A|B FiE|
5~50 40 23
32 50 33 125~300 | 62.5 | 455 | 5.5 8|48 | 56| 65| 17 |38.5| 34
75, 100 50 33
5~50 46.5 | 29.5
40 56.5 | 39.5 | 125~300 | 72 55 55 8| 54| 62| 72| 17 |38.5| 40
75,100 | 56.5 | 39.5
5~50 48.5 | 30.5
50 58.5 | 40.5 | 125~300 | 73.5 | 55.5| 6.6 9| 67| 76| 89| 18 |43.5| 50
75,100 | 58.5 | 40.5
5~50 54 36
63 64 46 125~300 | 75 57 9 9| 80| 92|108| 18 |43.5| 60
75,100 | 64 46
5~50 63.5 | 435
80 73.5 | 53.5 | 125~300 | 86 66 "M 99 (116 (134 | 20 [53.5| 77
75,100 | 73.5 | 53.5
100 5750 75 53 85 63 125~300 | — — M| 11 (117 (136154 | 22 (53.5| 94
75,100 | 85 63 ’

mindman



MCJQ EHBh/ 250 ¢ 32~ 6100

BE CAR) wEEEL

mindman

Y = =il ¥
HHE TR M A
T T T T -
N '\nl—‘ T i mﬂ_\
2R\
| i | s 2
B - L
mW\
NAN
L1 ‘ L! B+ife FT FX 4-¢FD
AL Fz
/e
RITHE HNGFHY R
T T —‘ T T
L1 ‘ L ‘
o e Efite
| kR gy 7 FD|FT|FV|FX|FZ| M
) L1 AlB|L|L1
mE\ gwm | Al B[ A B i
5~50 38 23
32 48 33 7 128.5(125~300| 705|455 17 |385|55| 8 | 48 | 56 | 65 | 34
75, 100 48 33
5~50 445 | 29.5
40 545 | 39.5 7 |28.5| 125~300 | 80 655 17 138.5|5.5 8 54| 62| 72| 40
75,100 | 54.5 | 39.5
5~50 47.5 | 30.5
50 575 | 40.5 8 |33.5| 125~300 | 82.5(55.5| 18 |43.5| 6.6 9 67| 76| 89| 50
75,100 | 57.5 | 40.5
5-50 |53 |36
63 63 46 8 [33.5| 125~300 | 84 57 18 (43.5| 9 9 80| 92(108| 60
75,100 | 63 | 46
5~50 64.5 | 43.5
80 745 | 53.5 | 10 |43.5| 125~300 | 97 66 20 (535 11 " 99| 116|134 | 77
75,100 | 74.5 | 53.5
100 5750 76 53 86 63 12 |43.5( 125~300 | — T o B | 11 | 117 1136|154 | 94
75,100 | 86 | 63 :
M ‘mindman




MCJQ EHBh/ 250 ¢ 32~ 6100

=5 NN = EF .
EE (AR ) smEREL mindman
T Y 4 fd I I
EHETTHE A it WAL o e AN
| | 7 i i
I B it = ¢ CD 7, H10 Y
fif d9
L1 cu CX:03)
L B+{712 cwW cz33
CL+712 RR
A+{FIZ
4=f0
RITHE YhEFI IS
T = 7 T
L1 ‘ L ‘
o T FfiR
752 TR WRERY 752 cp|cT|cu|cw|cx|cz| N [RR
L |L1 A|lB|cL|L|L1
miE\ gE [ Al B[cL|A]B]|cL i
5~50 60 | 23 | 50
32 70 |33 |60 7 128.5|1 125~300|92.5|45.5|825| 17 | 38.5| 10 5 14 |1 20| 18 | 36 | M6X1.0 | 10
75,100 | 70 | 33 | 60
5~50 68.5|29.5|58.5
40 78.5|39.5|68.5| 7 |[28.5| 125~300 (104 |55 94 17 |385| 10 | 6 |14 |22 | 18 | 36 | M6X1.0 | 10
75,100 [78.5|39.5|68.5
5~50 80.5|30.5|66.5
50 90.5|40.5|76.5| 8 |33.5| 125~300 (115.5| 55.5|101.5| 18 [43.5| 14 7 20 | 28 | 22 | 44 [M8x1.25| 14
75, 100 |90.5|40.5|76.5
5~50 88 |36 |74
63 98 (46 |84 8 |[33.5| 125~300 (119 |57 |105 18 |435( 14 | 8 |20 | 30 | 22 | 44 |M10X1.5| 14
75,100 (98 |46 |84
5~50 109.5(43.5| 915
80 119.5|153.5|101.5| 10 |43.5| 125~300 |142 |66 [124 20 | 535|118 | 10 | 27 | 38 | 28 | 56 [M12x1.75| 18
75, 100 [119.5|53.5|101.5
100 5750 132 |83 |10 142 |63 (120 | 12 [43.5| 125~300 22 | 13 | 31 | 45 | 32 | 64 |M12X1.75| 22
75,100 |142 |63 [120 : 2o
M ‘mindman




MCJQ FefE ¢ 12~ 100

ER (AR ) REREL mindman

| F TR | RF 2 EIIRIE

3s2 S1
IR NN D
)
—
& ]
5 |
1 A :
fEl A | B
[ p2" s2 Sk | P17 st Wféz 4 | 8 9(_:2 MSI:O.S
12 6 | 15 12 | 15 | 15 16 5 10 | 11.5 | M6X1.0
16 10 1.5 16 20 1.5 20 5 13 15 | M8x1.25
20 13 2 20 13 2 25 6 17 | 19.6 |M10x1.25
25 | 15 | 2 25 | 15 | 2 32,40 8 | 22 | 254 [M14x15
32 21 2 32 21 2 50,63 11 27 | 314 [ M18x1.5
40 | 28 | 2 40 | 28 | 2 80 | 13 | 32 | 37 [m22x15
50 | 35 | 2 50 | 35 | 2 100 | 16 | 41 | 47.3 [M26x15
63 35 2 63 35 2
80 43 2 80 43 2
100 | 59 [ 2 100 | 59 | 2

icpc]

ET,H%{JQ’?JEL : 2-C0.5 E
PIN—-MCJQ—-20—-CB—-P

o a
1 ] 1 - |
H RELRRE P & c 5 c
A3 A
CB : CB [igfiifl
I CBRY
1 A | B | ¢ |éD® | od E e

Pafe
12 | 146 | 102 | 22 | 558 | 4.8 8, (0.7 3| STW-5
16 | 166 | 122 | 22 | 538 | 4.8 %, |07 *3°[ sTW-5
20 | 21 16.2 | 24 | 8700 | 7.6 00509 57| STW-8
25 | 256|202 | 2.7 | 1028% | 9.6 _0os [1.1570™| STW-10
32,40| 41.6 | 36.2 | 2.7 | 102003 | 9.6 000 [1.1570™ | STW-10
50,63 | 50.6 | 44.2 | 3.2 | 1425% |13.4 34 [1.1570" | STW-14
-0.05

80 |64 |562| 39 |1820% [17.0 04 [1.3570™| STW-18

100 | 72 | 64.2 | 3.9 [ 22289 |21.0 0z [1.3570" | STW-22

M mindman




	1_規格
	2_內部構造/ 標準行程
	3_內部構造/ 長行程
	4_安裝配件
	5_外觀尺寸 φ12~φ32
	6_外觀尺寸 φ40~φ100 
	7_傳感器
	8_安裝配件
	9_安裝配件
	10_安裝配件
	11_安裝配件
	12_安裝配件
	13_安裝配件
	14_安裝配件

